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1.  Assume you are attempting to calculate the EVA for 1997 for Best Buy Inc.  As a part of this calculation, you must determine Best Buy’s NOPAT.  For each item that comprises NOPAT, discuss what information you need and where you would find this information.  Note:  be specific and be sure to discuss which year’s information you would use.





2.  Suppose that on Monday, March 2nd, you buy a put on America Online with a $120 strike that expires in April.  Assume that when the option expires, that America Online stock has risen by $1 per share from its closing price on March 2nd.  


a.  What was the cash flow you realized when you bought the put (+ = inflow/ - = outflow)?


b.  Given the assumptions above, what will be the cash flow at the expiration of the option (+ = inflow/ - = outflow)?


c.  Given the assumptions above, what is the overall gain/loss from buying the put?





3.  Your grandfather has just informed you that he will give you a savings account that will allow you to withdraw $30,000 per month for six months beginning four months from today.  He has also told you that he made the first deposit into this account two years and eight months ago.  Thereafter he made quarterly deposits that increased by 1/4% per quarter.  His last deposit was 5 months ago.  Finally, he tells you that the account earns 6.8% per month compounded monthly and that he will only give you the account if you can tell him how much his first deposit was? What do you tell him?





4.  Your firm has recently implemented EVA analysis and has been surprised to find that over the last few years EVA has been negative and falling.  Which ratios would you recommend that your firm calculate to identify the source of the negative and falling EVAs?  Why would you recommend these ratios?  What would you look for once you calculate these ratios?





5.  Monopoly Bill Inc. has assets with a current market value of $1,200,000 but is planning to undertake a new project that will cost $600,000 and which has a positive net present value of $100,000.  The standard deviation of returns on Monopoly’s existing assets is 43% and on the project is 38%.  The correlation between the returns on Monopoly’s existing assets and the project is 0.78.  Currently, Monopoly has debt which matures 5 years from today for $1,500,000.  In order to undertake the project, Monopoly plans to issue additional debt which matures 5 years from today for $500,000.  Any additional funds needed to undertake the project will be raised by issuing common stock.  Given the returns on zero-coupon Treasuries given below, what is the value of the Monopoly stock after the new project is undertaken?


Return on Treasury securities:  1-year = 5.58%, 2-year = 5.60%, 3-year = 5.64%, 4-year = 5.68%, 5-year = 5.70%, 6-year = 5.75%, 7-year = 5.81%





6.  In order to calculate the EVA for TU Acquisitions Inc. you need to estimate TU’s cost of capital.  Given the following information, what is TU’s cost of capital?





# of outstanding shares = 350,000


Market price per share = �EMBED Equation.3���


Book value per share = $18.92


Book value of debt = $2,100,000


Average yield to maturity on TU’s debt is 12%


Standard deviation of returns on TU’s stock is 34%


Standard deviation of returns on the S&P 500 is 28%


Correlation between TU and the S&P 500 is 0.65


Statutory tax rate = 35%


Return on 30-year T-strip = 6.1%


Return on 1-month T-bill = 5.35%
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1.  	Use 1997 numbers [8] for all NOPAT numbers except for amortization of R&D


Operating profit => revenues [2] less operating expenses [2] from income statement [2]


Interest earned on operating cash => interest income from cash [2] (not marketable securites [1]) from income statement [2] and possibly footnotes [1].  Note:  determine whether from cash from balance sheet [2].


Goodwill amortization:  amortization of goodwill [2] from income statement [1] or the footnotes [1]. Note:  only if deducted from operating profit [2].


R&D expense: R&D expense [2] from income statement [2] or possibly the footnotes [1].  Note:  only if deducted from operating profit [2].


Change in LIFO provision:  LIFO provision for 1997 - LIFO provision for 1996 [2] in footnotes [2]


Cash taxes:  cash taxes [2] on statement of cash flows [1] or footnotes [1] or if in neither place, calculate it [1].


Amortization of R&D => need R&D spending [2] for 1992 through 1996 [2].  Most likely in footnote [1] or in discussion of results by management [1].


Scale [checks=points]:  42=50, 41=49, 40=48, 39=47, 38=46, 37=45, 36=44, 34=42, 33=41, 32=40, 31=39, 30=38, 29=37, 27=36, 25=34, 23=32, 15=25





2.  	a.  �EMBED Equation.3���


b.  �EMBED Equation.3���


c.  -925.00 + 125.00 = -800.00


Points:  a. sign [+7], price [+7], 100 [+3], b. sign [+7], price of stock [+7], 120 [+7], 100 [+3]; c. [+7], final answer [+2]





3.  �EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


=> C = 15,441.42








Points:  Equations:  APR to eff., effective to effective, PV of annuity, single value FV, FV of g. annuity [+5 each];  Variables: 12, 3, 8, 10 [+4 each]; 30,000, 6, C, .0025 [+2 each]; .068 [+1]





�
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4.  	1)  Ratios that examine profitability [4]:  profit margin  [4] (look for ratio that below industry average [2] and falling [2]).


2)  Ratios that examine asset utilization [4]:  fixed asset turnover [2], inventory turnover [2], average collection period [2], total asset turnover [2] (look for ratios that are below industry average [2] and falling [2]).


3)  Ratios that examine use of free capital (current liabilities) [4]:  current ratio [2], quick ratio [2] (look for ratios that are above industry average [2] and rising [2] indicating low utilization of current liabilities for level of current assets [2]).


Scale [check=point]:  36=50, 29=49, 27=48, 25=47, 23=46, 22=45, 21=44, 20=43, 19=42, 18=41, 17=40, 16=39, 15=38, 14=37, 13=36, 12=35, 11=34, 10=33, 9=32, 8=31, 7=30, 6=29, 2=25





5.  V0 = 1,200,000 + 600,000 + 100,000 = 1,900,000


�EMBED Equation.3���


�EMBED Equation.3���


�EMBED Equation.3���


N(d1) = .75804; N(d2) = .43251


�EMBED Equation.3���


Points:  equations: s2, d1, S0 [+6 each], d2 [+2]; variables: 2,000,000; .78, .057, 5 [+3 each]; 


1,200,000 [x2]; 600,000; 100,000;  700,000; .43, .38, N() [x2] [+2 each].





6.  S = 350,000 �EMBED Equation.3���15.75 = 5,512,500


�EMBED Equation.3���


rE = 6.1 + 0.78929(6) = 10.83571


Cost of capital = �EMBED Equation.3���


Points:  equations:  b, covariance, rE, coc [+6 each]; variables: 15.75, 6.1, 6, .35, .65 [+3 each]; 350,000; .34; .28; 2,100,000; 12 [+2 each]; final answer [+1]








